
SAP ABAP table V_TIMA_OTYP_CUST {Generated Table for View}

V_TIMA_OTYP_CUST

CLIENT [CLNT (3)]

INSOBJECTTYPC [CHAR (2)]

INSOBJECTTYP [CHAR (2)]

NRINT [CHAR (2)]

NREXT [CHAR (2)]

TIMA_OTYP

CLIENT [CLNT (3)]

INSOBJECTTYP [CHAR (2)]
 V_TIMA_OTYP_CUST-INSOBJECTTYP = TIMA_OTYP-INSOBJECTTYP 

0..N

1
VIMA_NRIV_EXT

CLIENT [CLNT (3)]

NRRANGENR [CHAR (2)]

 V_TIMA_OTYP_CUST-NREXT = VIMA_NRIV_EXT-NRRANGENR 
0..N0..N

VIMA_NRIV_INT

CLIENT [CLNT (3)]

NRRANGENR [CHAR (2)]

 V_TIMA_OTYP_CUST-NRINT = VIMA_NRIV_INT-NRRANGENR 

0..N

0..N


